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Active: Subject + Verb + Object +

Passive: Object + am/ is / are + Past Participle
1.They wash their car every week.
Their car is washed every week.
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2. He posts the letters every day.
The letters are posted every day.
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Active: Subject + am/is/are + Verb+ ing + Object +

Passive: Object + am/ is / are + being + Past Participle
1.They are washing their car now.

Their car is being washed now.
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2. He is posting the letters now.
The letters are being posted now.
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Active: Subject + have/has + Past Participle + Object +

Passive: Object + have/has + been + past participle
1.They have washed their car.

Their car has been washed.
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2. He has posted the letters.
The letters have been posted.
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Active: Subject + Verb + Object +
Passive: Object + was/were + past participle

1.They washed their car yesterday.
Their car was washed yesterday.
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2. She wrote the letters yesterday.
The letters were written yesterday.

38y poiw! Al o )

Active: Subject + was/were + Verb+ ing + Object +
Passive: Object + was/were + being + Past Participle
1. They were washing their car at 8 yesterday.

Their car was being washed at 8 yesterday.
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2. He was writing the letters at this time yesterday.
The letters were being written at this time yesterday.

Active: Subject + had + Past Participle + Object +
Passive: Object + had + been + Past Participle
1.They had washed their car.

Their car had been washed.
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2. He had posted the letters.
The letters had been posted.

Active: Subject + will/be going to + Verb + Object +
Passive: Object + will/be going to + be + Past Participle
1. I will wash their car tomorrow.

Their car will be washed tomorrow.
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2. They are going to show the film next week.
The film is going to be shown next week.
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Active: Subject + Modal + Verb + Object +
Passive: Object + Modal + be + Past Participle

1.They must wash their car.
Their car must be washed.
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2. He may post the letters.
The letters may be posted.
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Mary washes the dishes every day.
The dishes are washed by Mary every day.
The dishes are washed by her every day.
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I go to school.

She walks to the park.
He is happy.

I feel cold.




Tag Question
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Ali is a good student, isn’t he?
Reza isn’t a good student, is he?

il it WU ko (Ko Jad oligF s g j0 2) AV
He speaks English well, doesn’t he?
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John studied hard, didn’t he?
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Tom never studies hard, does he?
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This is a cat, isn’t it?
Those are birds, aren’t they?
There is a dog in the yard, isn’t there?
I am a teacher, aren’t 1?
He seldom gets up late, does he?
Let’s go, shall we? Let’s not go, shall we?
Somebody is at the door, aren’t they?
Nothing is here, is it?
He hurt his hand, didn’t he?
He has done his homework, hasn’t he?
He has to go, doesn’t he?
He has a brother, doesn’t he?




Adjective Clauses

¢ (who - whom - whose - which - that )  Jgog0 plod
1) ! T 45 S (50 E 9000 1) (Hh0 (5 WMo 9 g N o (o0 310 ol 9 3 s (S o900 ilad

WS (oo o gi 1) 053 31 S ol T (0 (S 3090 1m0l b a5 (S Ao T (i o T (o0 Ao g
g5 oo (adjective clause ) b o dod> dod> (14 g

S g Wl il (ho Ao 3 b ! 4 O gur (0 0T (Floy (Jog0 o (1 t WhHO
S G5k e o sl 1y Jeb
The man is John’s father.

The man is talking to the teacher.

The man who is talking to the teacher is John's father.
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The man is a doctor.
We saw the man in the park.
The man whom we saw in the park is a doctor.

o I PR TS SUBE R ™

o ol JI AR iho o g oyl il 3T 45 WT (0 oowl 31wy Jgo g0 o (! sWhoOse
Sgw &g cudbo b
The man is a doctor.

The man'’s car is black.
The man whose car is black is a doctor.
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The book is mine.
The book is red.
The book which is red is mine.

The book is mine.
He is reading the book.
The book which he is reading is mine.
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The man that is talking to the teacher is John’s father.
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If it rains, we will not (won’t) go out.
b
We won'’t go out if it rains.
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If you help me, I can do it.
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If you helped me, I could do it.
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If he were here, I would tell him.
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Were he here, I would tell him.




Passive Sentences
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Object + am / is / are +
PP

The letter is written.
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Object + am / is / are +
being + pp

The letter is being
written.
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Object + have / has +
been + pp

The letter has been
written.
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Object + was / were +
PP

The letter was written.

Object + was / were +
being + pp

The letter was being
written.
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Object + had +been +
Yy

The letter had been
written.
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Object + will/be going
to + be + pp

The letter will/is going
to be written.

can / may / might

must / should

would / could

Object + Modal +be +
PP

The letter must be
written.




Past Perfect Tense
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I had written a letter. PO dwgd (5l 4ol
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He had left home before I arrived.
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I arrived after he had left home.
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He got good grades because he had studied hard.
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He had played football.
Had he played football?
He had not (hadn’t) played football.






